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(1) exciting (2) touched (3) worried (4) about
(5) surprised (6) at (7) surprising (8) to
(9) bored (10) with

IL RBRTFEEGF(A 25 £45)

1. The shoes are not big enough for Lucy to wear. (33 A ... too ...to...28 & 4] F)

The shoes are too small for Lucy to wear.

2. The coffee is too hot for Alex to drink. (35 A ...so... that... 85 &) F)

The coffee is so hot that Alex can’t drink it.

. #0238 E (1% 15 #£6%)

LIRS ERMEBRHF D FRRAR—BREEHFA -
Playing too much computer games is a problem for | teenagers |

2. RIBBURBHRE BB FH FHEIIFEHE -
My mom is of me to m a good example for my little brother.

2. M EREBI M ATETHAERESAETHIERHE TR -

[t’s not right to fake news by design to get as many hits as | possible |,
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